NSQE{ER (\gig.Ef 'IFrE:I;\%IEx D\i/z\;\lltrlwee?clar \mﬁ Wr(‘ﬁ\le(':ag’re DESCRIPTION BORE SIZE HHES%E IEQ%EE) PrER
Bore) (INCH) | (INCH) (bs) | CARTON

1252 LD 2 x 314 x 1/4 2 34 14 Light Duty 255-.270 | .907 -.919 75 700
1252 HD 2x1x1/4 2 1 1/4 Heavy Duty 255-.270 | 1.027-1.039 | 200 630
1250-1 212x11/8x516 | 212 | 1-18 5/16 315-.330 | 1.189-1.201 | 150 325
1250-2 212x118x3/8 | 212 | 118 38 380-.395 | 1.189-1.201 | 150 325
1250-3 212x118x12 | 212 | 118 12 505-.520 | 1.189-1.201 | 150 325
1250-4 2U2x1UBXSN6 | 5ap 118 5/16 With Steel Bushing 315-.330 | 1.189-1.201 | 150 325
2782-2 278x27/8x 12 | 278 | 2-78 12 505-.520 | 2.896-2.908 | 350 105
2782-3 27/8x27/8x5/8 | 27/8 | 2-7/8 5/8 630-.645 | 2.896-2.908 | 350 105
3784-1 3x7/8x1/4 3 7/8 14 255-.270 | 0.921-0.933 | 100 250
3784-2 3x7/8x38 3 78 38 380-.395 | 0.921-0.933 | 100 250
3784-3 3X7/8X1/2 3 78 12 505-.520 | 0.921-0.933 | 100 250
3784-4 3x7/8x5/16 3 7/8 5/16 315-.330 | 0.921-0.933 | 100 250
31181 3x11/8x5/16 3 1-1/8 5/16 315-.330 | 1.229-1.241 | 150 200
3113-1 3x113/16 x 5/8 3 1-13/16 5/8 630-.645 | 1.986-1.998 | 500 150
3113-2 3x113/16 X 7/16 3 1-13/16 7/16 443 - 460 | 1.986-1.998 | 500 150
3113-3 3x113/16 x 1/2 3 1-13/16 12 505-.520 | 1.986-1.998 | 500 150
31136 3x113/16 x 1-3/16 3 1-13/16 3/16 Roller Bearing Bore Wheel LI | 19861998 | 500 150
3114-1 3x11/4x38 3 1-1/4 38 380-.395 | 1.541-1553 | 300 200
3114-2 3x11U4x12 3 1-1/4 12 505-.520 | 1.541-1.553 | 300 200
3114-3 3x11/4x5/16 3 1-1/4 5/16 315-.330 | 1.541-1553 | 300 200
4118-1 4x1x5/16 4 1 5/16 315-.330 | 1.179-1.191 | 125 150
4118-2 4x11/8x5/16 4 1-1/8 5/16 315-.330 | 1.225-1.237 | 175 140
4114-1 4x11/4%38 4 1-1/4 38 380-.395 | 1.560-1.572 | 350 110




4114-2 AX114x 12 1-1/4 12 505-.520 | 1.560-1.572 | 350 110
46245 4x11/2x1/2 HD 1172 1/2 HD Anti-Scalp Wheel 505-.520 | 1.505-1.517 | 400 105
5613-1 5x13/8x1/2 138 12 505-.520 | 1.451-1.463 | 400 72
5613-2 5x13/8x1/2SB 138 1/2 SB Steel Bushing Wheel 505-.520 | 1.451-1.463 | 400 72
51121 5x1x5/16 1 5/16 315-.330 | 1.149-1.161 | 145 96
5112-2 5x1x7/16 1 7116 443- 460 | 1.149-1.161 | 145 96
51123 5x11/16 X 5/16 1-1/16 5/16 315-.330 | 1.234-1.246 | 145 96
5112-4 5x11/4x3/8 1-1/4 38 380-.395 | 1517-1.529 | 400 72
51125 5x11/4x5/16 1-1/4 5/16 315-.330 | 1.517-1.529 | 400 72
5112-6 5x11/4x1/2 1-1/4 12 505-.520 | 1.517-1.529 | 400 72
51127 5x11/4x5/8 1-1/4 5/8 630-.645 | 1.517-1.529 | 400 72
5112-8 5x11/2x1/2 1172 12 505-.520 | 1.574-1.586 | 450 72
51129 5x11/2x5/8 1172 5/8 630-.645 | 1.574-1.586 | 450 72
5220-1 5x2x3/4 2 34 755-.770 | 2.190-2.202 | 750 48
5220-2 5x2x5/8 2 5/8 630 - .645 | 2.190-2.202 | 750 48
5220-3 5x2x13/16 2 3/16 Roller Bearing Bore Wheel L% | 21002202 | 750 48
5220-6 5x2x1/2 2 12 505-.520 | 2.190-2.202 | 750 48
52HD 5x2 x 1/2 OSH 2 1/2 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel 510- 550 | 1.570-1.582 | 200 56

53HD-01 5x3x 1/2 OSH 3 1/2 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel 510- 550 | 2.512-2.524 | 800 40
53HD-02 5x 3 x 5/8 OSH 3 5/8 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel 630- 645 | 2.512-2.524 | 800 40
53HD-04 5x 3 x 5/8 OSH 3 5/8 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel 630-.645 | 2.498-2.510 | 800 40

53CTH-01 5x3x1/2CTH 3 1/2 CTH Centered Hub Heavy Duty Anti-Scalp Wheel .510 - .550 | 3.280-3.292 800 32

53CTH-02 5x3x5/8 CTH 3 5/8 CTH Centered Hub Heavy Duty Anti-Scalp Wheel 630-.645 | 3.280-3.292 | 800 32
6138-1 6x13/8x1/2 138 12 505-.520 | 1.450-1.462 | 50 50




6138-2 6x13/8x1/2SB 1-3/8 1/2 SB Steel Bushing Wheel .505 - .520 1.450-1.462 50 50
6151-1 6x11/2x5/8 1-1/2 5/8 Centered Hub Wheel .630 - .645 1.732-1.744 500 40
6151-2 6x11/2x3/4 1-1/2 3/4 Centered Hub Wheel .755-.770 1.732-1.744 500 40
6245-1 6x2x1/2LH 2 1/2 LH Long Hub (LH) .505 - .520 2.400-2.412 650 34
6245-2 6x2x3/4LH 2 3/4 LH Long Hub (LH) .755-.770 | 2.400-2.412 650 34
6245-4 6x2x13/16 LH 2 1-3/16 Roller Bearing Bore Wheel Long Hub (LH) 11117985 2.400-2.412 650 34
6245-1A 6 x2x1/2SH 2 1/2 SH Short Hub (SH) .505-.520 | 2.149-2.161 650 34
6245-2A 6 x2x3/4SH 2 3/4 SH Short Hub (SH) 755 -.770 2.149-2.161 650 34
6245-3 6 x 2 x5/8 SH 2 5/8 SH Short Hub (SH) .630 - .645 2.149-2.161 650 34
6245-4A 6x2x13/16 SH 2 1-3/16 SH Roller Bearing Bore Wheel  Short Hub (SH) 11"11755' 21492161 | 650 34
6245-5 6 X2 X 3/4RB LH 2 3/4 LH Long Hub (LH) With Roller Bearing 755 -.770 2.400-2.412 650 34
6245-5A 6 x2x3/4RB SH 2 3/4 SH Short Hub (SH) With Roller Bearing 755 -.770 | 2.149-2.161 650 34
6245-6 6 x2x5/8RB LH 2 5/8 LH Long Hub (LH) With Roller Bearing .630 - .645 2.400-2.412 650 34
6245-6A 6 X2 X5/8 RB SH 2 5/8 SH Short Hub (SH) With Roller Bearing .630 - .645 | 2.149-2.161 650 34
62HD-1 6 x2x1/2HD 2 1/2 HD Heavy Duty .505 - .520 2.185-2.197 1,000 34
62HD-3 6 x2x3/4HD 2 3/4 HD Heavy Duty .755-.770 | 2.185-2.197 1,000 34
62HD-4 6 x2x13/16 HD 2 1-3/16 HD Roller Bearing Bore Wheel Heavy Duty 11117985 2.185-2.197 1,000 34
82SD-1 8x2x3/4CTH 2 3/4 CTH Solid Wheels with Centered Hub (CTH) 755 -.770 | 2.179-2.191 900 17
82SD-2 8x2x5/8CTH 2 5/8 CTH Solid Wheels with Centered Hub (CTH) .630 - .645 2.179-2.191 900 17
82SD-3 8x2x13/16 CTH 2 1-3/16 CTH Solid Centered Hub Roller Bearing Bore 1111755 2.179-2.191 900 17
82SD-4 8 X2 X3/4RBCTH 2 3/4 RB Centered Hub With Roller Bearing .755-.770 | 2.179-2.191 900 17
82SD-5 8x2x5/8RBCTH 2 5/8 RB CTH Centered Hub With Roller Bearing .630 - .645 2.179-2.191 900 17
82SK-1 8x2x3/4CTH 2 3/4 CTH Spoke Centered Hub Wheel .755-.770 | 2.164-2.176 350 17
82SK-2 8x2x5/8CTH 2 5/8 CTH Spoke Centered Hub Wheel .630 - .645 2.164-2.176 350 17




82SK-3 8 x 2 x 3/4 OSH 8 2 3/4 OSH Spoke Off Set Hub Wheel 755-.770 | 2.189-2.201 | 350 17
82SK-4 8 x 2 X 5/8 OSH 8 2 5/8 OSH Spoke Off Set Hub Wheel 630-.645 | 2.189-2.201 | 350 17
82SK-5 8x 2 x 1/2 OSH 8 2 1/2 OSH Spoke Off Set Hub Wheel 505-.520 | 2.189-2.201 | 350 17
82SK-6 8x2x1/2 CTH 8 2 1/2 CTH Spoke Centered Hub Wheel 505- 520 | 2.164-2.176 | 350 17
10SD-1 10x zogﬁ' X718 10 2-1/4 7/8 OSH Solid Off Set Hub Wheel 880 -.895 | 2.184-2.196 | 1,000 12
10SD-2 10x 2015/ﬁ X 3/4 10 2-1/4 3/4 OSH Solid Off Set Hub Wheel 755-.770 | 2.184-2.196 | 1,000 12
10SD-3 10x 2015/ﬁ x5/8 10 2-1/4 5/8 OSH Solid Off Set Hub Wheel 630-.645 | 2.184-2.196 | 1,000 12
10SD-4 10x21/4x11/64 10 2-1/4 | 1-1/64 OSH Solid Off Set Hub Wheel 1.005- | 5 1842196 | 1,000 12

OSH 1.025
10SD-5 10x24 x 1 3/16 10 2-1/4 | 1-3/16 OSH Solid Off Set Hub Roller Bearing Bore Wheel 11'117985' 2.184-2.196 | 1,000 12

10SD-1-CTH | 10X zclT’ﬁ X718 10 2-1/4 7/8 CTH Solid Centered Hub Wheel 880 -.895 | 2.694-2.706 | 1,000 10

10SD-4-CTH | 10x21/4x 1 CTH 10 2-1/4 1CTH Solid Centered Hub Wheel 100> | 26042706 | 1,000 10
10SK-1 10X 2 1/4 X 5/8 SH 10 2-1/4 5/8 SH Spoke Off Set Hub Wheel Short Hub 630-.645 | 1.994-2.006 | 500 12
10SK-2 10X 2 1/4 X 5/8 LH 10 2-1/4 5/8 LH Spoke Off Set Hub Wheel Long Hub 630-.645 | 2.174-2.186 | 500 12
10SK-3 10X 2 1/4 X 3/4 LH 10 2-1/4 3/4 LH Spoke Off Set Hub Wheel Long Hub 755-.770 | 2.174-2.186 | 500 12
6156-LD 6x11/2x38 6 1172 38 Light Duty Lawn & Garden Wheel 380-305 | AN 35 168

8L-1 8x2x1/2 8 2 1/2 Spoke Lawn & Garden Wheel .505-.525 | 1.532-1.544 150 24

1/2 Drive .
8L-1D 8x2x 112 8 2 2o Spoke Lawn & Garden Drive Wheel 505- 525 | 1.532-1.544 | 150 24
10L-1 10X2 1/4 X 1/2 10 2-1/4 12 Spoke Lawn & Garden Wheel 505- 525 | 1.481-1.493 | 175 36

1/2 Drive .
10L-1D 10x2 1/4 X 1/2 10 2-1/4 2o Spoke Lawn & Garden Drive Wheel 505- 525 | 1.481-1.493 | 175 36
12L-1 12 X2 1/4 X 1/2 12 2-1/4 12 Spoke Lawn & Garden Wheel 505- 525 | 1.474-1.486 | 200 72

1/2 Drive .
12L-1D 12 X2 1/4 X 1/2 12 2-1/4 2o Spoke Lawn & Garden Drive Wheel 505- 525 | 1.474-1.486 | 200 72
8158-SD-1SA 8 x 1-5/8 x 5/8 8 1-5/8 5/8 Polyolefin Center with Santoprene Tread .630 - .645 2.00 375 20
8158-SD-1UR |  8x1-5/8x5/8 8 1-5/8 5/8 Polyolefin Center w/ Urethane Tread OSH 630 - .645 2.00 375 20
82SD-2SA 8x2x5/8 8 2 5/8 Polyolefin Center w/ Santoprene Tread CTH .630 - .645 2.170 500 17




82SD-2UR 8x2x5/8 8 2 5/8 Polyolefin Center with Urethane Tread CTH .630 - .645 2.170 750 17
82SD-1SA 8x2x3/4 8 2 3/4 Polyolefin Center w/ Santoprene Tread CTH .755 - .770 2.170 500 17
82SD-1UR 8x2x3/4 8 2 3/4 Polyolefin Center w/ Urethane Tread CTH .755 - .770 2.170 750 17
82SD-3SA 8x2x1-3/16 8 2 1-3/16 Polyolefin Center w/ Santoprene Tread CTH Roller Bearing 1.178 - 2170 500 17
Bore 1.195
82SD-3UR 8x2x 1-3/16 8 2 1-3/16 Polyolefin Center w/ Urethane Tread CTH Roller Bearing Bore | 5/ 2.170 750 17
82SD-4SA 8x2x5/8 8 2 5/8 Polyolefin Center w/ Santoprene Tread OSH .630 - .645 2.168 500 17
82SD-4UR 8x2x5/8 8 2 5/8 Polyolefin Center w/ Urethane Tread OSH .630 - .645 2.168 750 17
82SD-5SA 8x2x3/4 8 2 3/4 Polyolefin Center w/ Santoprene Tread OSH 755 -.770 2.168 500 17
82SD-5UR 8x2x3/4 8 2 3/4 Polyolefin Center w/ Urethane Tread OSH .755 - .770 2.168 750 17
82SD-6SA 8x2x1-3/16 8 2 1-3/16 gg:}éolefin Center w/ Santoprene Tread OSH Roller Bearing 11117;35 2168 500 17
82SD-6UR 8x2x1-3/16 8 5 1-3/16 gg:’)éolefin Center w/ Urethane Tread OSH Roller Bearing 11117;35 2168 750 17
82SK-4SA 8x2x5/8 8 2 5/8 Spoke Polyolefin Center w/ Santoprene Tread OSH .630 - .645 2.168 250 17
82SK-4UR 8x2x5/8 8 2 5/8 Spoke Polyolefin Center w/ Urethane Tread OSH .630 - .645 2.168 350 17
82SK-3SA 8x2x3/4 8 2 3/4 Spoke Polyolefin Center w/ Santoprene Tread OSH 755 - .770 2.168 250 17
82SK-3UR 8x2x3/4 8 2 3/4 Spoke Polyolefin Center w/ Urethane Tread OSH .755 - .770 2.168 350 17
82SK-2SA 8x2x5/8 8 2 5/8 Spoke Polyolefin Center w/ Santoprene Tread CTH .630 - .645 2.170 250 17
82SK-2UR 8x2x5/8 8 2 5/8 Spoke Polyolefin Center w/ Urethane Tread CTH .630 - .645 2.170 350 17
82SK-1SA 8x2x3/4 8 2 3/4 Spoke Polyolefin Center w/ Santoprene Tread CTH 755 -.770 2.170 250 17
82SK-1UR 8x2x3/4 8 2 3/4 Spoke Polyolefin Center w/ Urethane Tread CTH 755 - .770 2.170 350 17
losK'fA'GT' 10x 2515'3 X 5/8 10 2-/14 5/8 Spoke Polyolefin Center w/ Santoprene Gear Tread OSH .630 - .645 2.180 250 12
10SD-3SA 10x zojé/ﬁ X 5/8 10 2-1/4 5/8 Soild Polyolefin Center w/ Santoprene Tread OSH .630 - .645 2.190 750 12
10SD-3UR 10x zc')gﬁ x5/8 10 2-1/4 5/8 Polyolefin Center w/ Urethane Tread OSH 630 - .645 2.190 1000 12
10SD-2SA 10x %gf' x3/4 10 2-1/4 34 Polyolefin Center w/ Santoprene Tread OSH 755 - .770 2.190 750 12
10SD-2UR 10x2-1/4 x 3/4 10 2-1/4 3/4 Polyolefin Center w/ Urethane Tread OSH .755 - .770 2.190 1000 12

OSH




1.005 -

10SD-4SA 10 x 2-1/4 x 1 OSH 10 2-1/4 1 Polyolefin Center w/ Santoprene Tread OSH 1.025 2.190 750 12
10SD-4UR | 10x2-1/4 x 1 OSH 10 2-1/4 1 Polyolefin Center w/ Urethane Tread OSH L0 2.190 1000 12
10SK-2SA 10x zc')gﬁ x5/8 10 2-1/4 5/8 Spoke Polyolefin Center w/ Santoprene Tread OSH 630 - .645 2.168 250 12
10SK-2UR 10x Zojé/ﬁ X 5/8 10 2-1/4 5/8 Spoke Polyolefin Center w/ Urethane Tread OSH .630 - .645 2.168 350 12
10SK-3SA 10x %gf' x3/4 10 2./14 3/4 Spoke Polyolefin Center w/ Santoprene Tread OSH 755 - .770 2.168 250 12
10SK-3UR 10x2-1/4 x 3/4 10 2-114 3/4 Spoke Polyolefin Center w/ Urethane Tread OSH .755 - .770 2.168 350 12

OSH




